Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages. -

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Thlrd Semester B.E. Degree Exami n: Aug./Sept. 2020
Computer Orgam;atlon

Time: 3 hrs. s ) Max Marks: 80

Note: Answer any FIVE full questions, cho’m §°mg ONE Jull question fereach module.
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{Module-1 .

a. How to measure the performanc@ g@f a computer? Explain. T (05 Marks)
b. What are the four types operations required by the instriiction to be performed by the
computer? Explain the basié Instruction types with an example (06 Marks)

c. Explain the concept of stack/frames when subroutlnehém;gge nested. (05 Marks)
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OR

a. Whatis performaﬁﬁ %easurement7 Explam the/SPEC rating for the computer in a program.
(07 Marks)

ssing modes with assembler syntax.
(09 Marks)

b. With the typical block dlagram\

transfer between memory and perlpherals (06 Marks)
c. With a neat figure, explal (05 Marks)
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a. (05 Marks)
b. (06 Marks)
C. (05 Marks)
a. X (05 Marks)
b. Illustrate cache memory rnafipmg functions. (06 Marks)
C. Epraln Virtual memory aqjdress translatlon‘ = (05 Marks)
a.” Explaln the dlreétt j Lped cache in mappmg functions with a neat diagram. (08 Marks)
plain with a suitable example. (08 Marks)

b. What is memdry lnterleavmg7 EX|

& Module-4
a. Explain 4- b1t carry-look ahead adder with a neat diagram. (06 Marks)
b. Perform the addition am;L $u,btract10n of following signed number (Any two)
i) +2and+3 (Addition)
i) =7 and -3 (Subtraction)
iii) +4 and 6 (Addltlon)
iv) +7 and éAddmon) (04 Marks)

\\\ ecodlng for —11and +27 [(—11) multiplicand and (+27) multiplier].
" (06 Marks)

1 of2




. ,
,@@%’ 15CS34

OR :
Perform Booth’s algorithm for (+15) and (- 6) ) Multiplicand (—6) Multiplier]
(08 Marks)
Perform 1100+ 11 using non restoring algoritt (08 Marks)
Explain the Three bus organization : ¢ A (08 Marks)
Show with a block diagram an eml in. (08 Marks)
Compare and contrast the f0
i) Harwired control
ii) Microprogramme (08 Marks)
¢ following instruction ADD (R3), Ri.
(08 Marks)
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